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Consolidation work 1 - First Level *

Find the total of six and five.

. Add together 10 and 4.

. Find the difference between 9 and 2.

There are ten biscuits in a packet. How many biscuits are in 3 packets?

What is half of 8?

. Bill has 18 marbles. He has to share them equally between himself and his sister.

How many marbles would each child have?

Write 10 O'clock in digital time.

Find £ of 12.

Complete the sequence: 3, 6, 9, 12, ___ , 18,
Find the total of 11 and 4.

What is the sum of 3 + 8 + 7?

Shade in a quarter of this shape.

Take away 7 from 16.

Jill has 15 new pencils. She shares them equally between her 5 pencil cases.
How many pencils are in each pencil case?

What is 8 plus 9?
Put an X half-way along this line.
® ®
If you get 2 toys in a packet, how many packets will you need to get 10 toys?
How many 10p coins make up £1?
Jenny had 20p. She bought a lolly pop for 10p. How much change?
Continue the pattern: A |:| |:| A |:| |:| A |:| |:|



